D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il

SESSION: 2023 - 2024
CLASS: IX MAXIMUM MARKS: 80
SUBJECT: SOCIAL SCIENCE TIME: 3 HOURS

General instructions:
Read the following instructions carefully and strictly follow them.

e There are total 8 pages in the question paper.

e Question paper comprises six sections - A, B, C, D, E and F. There are 37 questions and all

are compulsory.

Section A - Question No. 1 to 20 are very short answer type questions, carrying 1 marks each.

Section B - Question No. 21 to 24 are short answer type questions, carrying 2 marks each.

Section C - Question No. 25 to 29 are short answer type questions, carrying 3 marks each.

Section D - Question No. 30 to 33 are long answer type questions, carrying 5 marks each.

Section E - Question No. 34 to 36 are Source Based questions with three sub questions and

are of 4 marks each.

e Section F - Question No. 37 is Map Based question with two sub questions, Geography (3
marks) and History (2 marks).

e There is no overall choice in the question paper However, an internal choice has been
provided in a few questions. Only one of the choices in such questions have to be attempted.

e Attach map along with your answer book.

SECTION A

Study the figure carefully and answer the following question.

B

A = s

Which of the following options best signifies this figure?

A. The women demand their rights

B. The women marched to Versailles and brought the king back with them to Paris.
C. People participation in Government

D. March of Women to Marseilies.

Match the following Column I with Column I1.

Column i Column 11
a) Declaration of the rights of Woman and citizen | i) 1848
b) Abolition of slavery ii) 1815
) The storming of the Bastille iii) Olympe de Gouges
d) War of Waterloo iv) 1789

Code:

A.a—iv,b—iii,c—ii, d—i
B.a—iii,b—i, c—iv,d—ii
C.a—iii,b—ii, c—iv,d—ii
D.a—iv,b—i, c—iii,d—ii



In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statement carefully and choose the correct option.

Assertion (A): The revolutionary wars brought losses and economic difficulties to the people.
Reason (R): While the men were away fighting at the front, women were left to cope with the tasks
of earning a living and looking after their families.

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. Ais correct, but R is incorrect.

D. Alis incorrect, but R is correct.

Consider the following statements regarding Lenin:

1. He was a Bolshevik Leader.

2. He returned to Russia from his exile in April 1917.

3. He sought to build a cooperative community called New Harmony.
A.Only 1 B. Only 2

C.Only 3 D.land?2

Find the incorrect option regarding China's election?

A. Elections are regularly held after every five years.

B. Before contesting elections, a candidate needs the approval of the CCP.
C. The government is always formed by the Communist Party.

D. Every party has fair chance to win the election.

Match list I with list 11 and select the correct answer using the codes below in the lists:

Column | Column 11
1. General Pervez Musharraf led a military coup A. 1999
2. Mexico got its Independence B. 1930
3. Saudi Arabia women did not have the right to vote. C. Until 2015
4. Zimbabwe attained independence from White minority rule. D. 1980

Options:

A. 1B,2C,3D,4A
B. 1.C,2B,3.D,4A
C. 1A 2C,3B,4D
D. 1A 2B,3.C,4D

Pint out he case/s where real power was controlled by external authority and not with the locally
elected representatives?

A. Indiain Sri Lanka B. USinlraq
C. USSR in Communist Poland D. Both (B) and (C)
Match the following Column | with Column 1.
Column | Column 11

a. Legal Framework Order in Pakistan i) 1980

b. President Mugabe was forced-out of office in Zimbabwe | ii) 2002

c. China’s famine i) 2017

d. Zimbabwe’s Independence iv) 1958

Code:

A.a—ii,b—i,c—iv,d—iii
B.a—ii,b—iii,c—i,d-iv
C.a—ii,b—iii,c—iv,d—i
D.a—ii,b—iv,c—iii,d—i
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10.

11.

12.

13.

14.

According to Legal Framework Order who could dismiss the national and provincial assemblies?
A. The President B. The Vice-President
C. The Prime Minister D. The Governor

Among the following problems which was not faced by India while framing the constitution?
A. The people of India emerging from the status of subjects to that of citizens.

B. The country was born through a partition.

C. The problem of merger of princely states.

D. The problem of selecting Prime Minister.

Study the figure carefully and answi

er the

-

guestion that follows:

B v ' LTF N :
This image captures the spirit of which country?
A. America B. South Africa
C. Australia D. India

Which one among the guiding values of the Constitution of India means people have the supreme
right to make decision?

A. Secular B. Republic

C. Sovereign D. Fraternity

‘X’ gave his friend clues about the longest river of South India. Which of the following clues
provided by ‘X’ would be useful to identify the river.
Clues :

Q) It has 50 % basin in Maharashtra.

(i) It forms Dhuadhar falls on its course.

(iii) It rises from spring near Mahabaleswar.

(iv)  Wainganga and Penganga are its tributaries.

A. Clue (i) B. Clue (ii) & (iv)
C. Clue (iii) & (i) D. Clue (i) & (iv)

In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statement carefully and choose the correct option.

Assertion (A): The land of India displays great physical variation.

Reason (R): Our country has practically all major physical features of the earth i.e. mountains,
plains, plateaus, desert and islands.

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. Ais correct, but R is incorrect.

D. A is incorrect, but R is correct.



15.

16.

17.

18.

19.

Choose the correct statement/statements in respect to India.

I. North-south extent appears to be smaller than the east-west extent.

I1. India is bounded by the young fold mountains in the north-west, north and north-east.

[11. The longitudinal extent influences the duration of day and night of India as one moves from
south to north.

IV. Sri Lanka is separated from India by a narrow channel of sea formed by the Palk Strait and the

Gulf of Mannar.

A. Both Il & 111 B.Both Il & IV
C.Both 1 & I D. Both 1 & IV
Match the factors of production with their respective feature:
Column | Column 11
a. Physical capital 1) can be used over many years
b. Fixed capital ii) skills and productive knowledge
c. Working capital iii) inputs required during production
d. Human capital Iv) raw material

Codes:

A.a—ii, b—iii,c—iv,d—i
B.a—ii, b—i, c—iii,d—iv
C.a—iii,b—ii, c—iv,d—i
D.a—iii,b—i, c—iv,d—ii

In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statement carefully and choose the correct option.

Assertion (A): The labourers in Palampur are paid very high wages.

Reason (R): The competition for labour is very high in the village.

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. Ais correct, but R is incorrect.

D. A is incorrect, but R is correct.

John has done Post graduation but he does not have any work. Which type of unemployment is
this?

A. Seasonal Unemployment B. Disguised Unemployment
C. Educated Unemployment D. None of these
Match the correct answers of column | with column I1.
Column | Column 11

a. Disguised Unemployment I. Has moved to secondary or tertiary sector.

b. Surplus Labour ii. Give profit

c. Sarva Shiksha Abhiyan iii. Found in rural areas

d. Market activities iv. Universalisation of elementary education

Code:

A.a—iii,b—iv,c—i,d—ii
B.a—iii,b—i,c—iv,d—ii
C.a—ii,b—i,c—iv,d—iii
D.a—ii,b—iii,c—iv,d—i



20.

21.

22.

23.

24.

25.

26.
27.
28.

29.

30.

In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the option which is most suitable:

Assertion (A): Over the last five decades, India has built a vast health infrastructure and has also
developed the manpower required at primary, secondary and tertiary sector in government, as well
as, in the private sector.

Reason (R): Improvement in the health status of the population has been the priority of the
country.

Options:

A. Both (A) and (R) are true and (R) is the correct explanation of (A).

B. Both (A) and (R) are true but (R) is not the correct explanation of (A).

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

SECTION B

State any two differences between liberals and radicals.
Or
Mention any two measures undertaken by Stalin to solve the problem of acute shortages of grain.

‘In a democracy, the majority of the people rule through their elected representatives.” Give
reasons.

“Indian Constitution adopted many institutional details and procedures from different countries.”
Justify by giving examples.

“The northern plains have diverse relief features”. Explain.
SECTION C

Describe any three changes brought about by the Bolsheviks immediately after the October
Revolution.

Highlight any three unfair practices used by President of Zimbabwe to win the elections
Discuss the significant differences between the Himalayan and the Peninsular Rivers.

Is it important to increase the area under irrigation? Why?
OR
Why are the wages for farm labourers in Palampur less than minimum wages?

What is meant by unemployment? Name the types of unemployment that exist in rural as well as in
urban areas.

SECTION D

Describe the legacy of the French Revolution for the people of the world during the 19th and 20th
centuries.

OR
What role did the philosophers play in the French Revolution?

1+2



31.

32.

33.

34.

35.

Explain any five major ideals enshrined in the Preamble of the Constitution.

OR
"The making of the Constitution for a huge and diverse country like India was not an easy affair."”
Justify the statement.

“The different physiographic regions of India complement each other”’-Examine
OR
“The Himalayan Mountain has a great importance for India”-Justify.

a) “Unemployment leads to low income, low savings and hence low demand and low production.
This is the identification of a depressed economy”. Support the statement with three suitable
arguments.
b) Write any two ways to show that a large population can be turned into a productive asset.

OR
a) How has Japan become a developed country despite being poor in natural resources? Explain

with any three valid reasons.

b) ‘Rural women are employed in very low paid jobs”. Justify the statement with any two suitable
reasons.

SECTION E

Read the source given below and answer the questions that follows:

“Women workers, often... inspired their male co-workers... At the Lorenz telephone factory....
Marfa Vasileva almost single handedly called a successful strike. Already that morning, in
celebration of Women’s Day, women workers had presented red bows to the men ... Then Marfa
Vasileva, a milling machine operator stopped work and declared an impromptu strike. The workers
on the floor were ready to support her... The foreman informed the management and sent her a loaf
of bread. She took the bread but refused to go back to work. The administrator asked her again why
she refused to work and she replied, “I cannot be the only one who is satiated when others are
hungry”. Women workers from another section of the factory gathered around Marfa in support and
gradually all the other women ceased working. Soon the men downed their tools as well and the
entire crowd rushed onto the street.

a. Who was Marfa Vasileva?

b. Why is she refused to work?

c. Write about the role of women in Russian Revolution?

Read the source given below and answer the questions that follows:

India has many lakes. These differ from each other in size and other characteristics. Most lakes are
permanent; some contain water only during the rainy season, like the lakes in the basins of inland
drainage of semi-arid regions. There are some lakes which are the result of the action of the glaciers
and ice sheets, while others have been formed by wind, river action and human activities.

A meandering river across a flood plain forms cut-offs that later develops into ox-bow lakes. Spits
and bars forms lagoons in the coastal areas, e.g., the Chilika lake, the Pulicat lake and the Kolleru
lake. Lakes in the region of inland drainage are sometimes seasonal; for example, the Sambhar lake
in Rajasthan, which is a salt water lake. Its water is used for producing salt.

Most of the freshwater lakes are in the Himalayan region. They are of glacial origin. In other words,
they formed when glaciers dug out a basin, which was later filled with snowmelt. The wular lake in
Jammu and Kashmir, in contrast, is the result of tectonic activity. It is the largest fresh water lake in
India. The Dal lake, Bhimtal, Nainital, Loktak and Barapani are some other important freshwater
lakes.

3+2
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36.

37

a. Name the lake which is formed due to tectonic activity.
b. In which region most of the freshwater lakes are found?
c. State two economic benefits of lakes.

Read the source and answer the following questions.

The aim of production is to produce the goods and services that we want. There are four
requirements for production of goods and services. These are: The first requirement is land and
other natural resources such as water, forests, minerals, etc. The second requirement is labour i.e.
people who will do the work. Some production activities require highly educated workers to
perform the necessary tasks. Other activities require workers who can do manual work. Each
workers is providing the labour necessary for production. The third requirement is physical capital
i.e. the variety of inputs required at every stage during production. There is a fourth requirement
too. You will need knowledge and enterprise to be able to put together land, labour and physical
capital and produce an output either to use yourself or to sell in the market. This these days is called
human capital.

(a) What is the aim of production?
(b) Define human capital formation.
(c) Why is human capital superior to other resources?

SECTION F

Locate and label the following items on the given map of France

A. France got its National anthem from this province
B. A Port of France

On the outline map of India locate and label any two of the following with suitable symbols.

i) Locate the state which shares boundary with Nepal, Bhutan and Bangladesh.

ii) Aravalli Range.

iii) Coastal Plain of Kerala

On the same map one feature is marked as A. Identify it with the help of the correct
information given and write its correct name on the line drawn near to it.

A. A Himalayan River
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D.AV.INSTITUTIONS, WEST BNEGAL ZONE
PERIODIC TEST Il
SESSION 2023-2024

Class - IX Max. Marks: 50
Subject - ARTIFICIAL INTELLIGENCE (417) Max. Time: 2 Hours

General Instructions:

1.
2.
3.
4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 12 =) 17 questions in the

o

Please read the instructions carefully.
This Question Paper consists of 21 questions in two sections: Section A & Section B.
Section A has Objective type questions whereas Section B contains Subjective type questions.

allotted time 2 houir.

All the questions of a particular section must be attempted in the correct order.
SECTION A - OBJECTIVE TYPE QUESTIONS (20 MARKS):
i.  This section has 05 questions.
ii.  Marks allotted are mentioned against each question/part.
iii.  There is no negative marking.
iv. Do as per the instructions given.
SECTION B - SUBJECTIVE TYPE QUESTIONS (30 MARKS):
i.  This section has 16 questions.
ii. A candidate has to do 12 questions.
ii. Do as per the instructions given.
iv.  Marks allotted are mentioned against each question/part.

SECTION A: OBJECTIVE TYPE QUESTIONS

Q.1 Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 marks)

The most visible part of face-to-face communication is: 1
a) Body language  b) Language c) Gestures d) Positive

In which communication style body language, gestures, facial expressions are used to ¢
convey information to others.

a) Verbal b) Non-verbal c) Written d) Expression-less

iii. Kkr]lciwing & understanding oneself own emotions, feelings etc. refers to 1
skill.
a) Self-Motivation b) Self-Awareness
c) Self-Regulation d) Stress-Management

iv. Neena had difficulty in speaking English. She, therefore, avoided talking to her 4
classmates. She believed that she can learn English by joining English speaking
classes and in few days, she was able to speak English fluently. Which of the
following quality is she demonstrating?
a) Self-glorification b) Self-control c) Self-confidence d) Team work

V. Rama learnt that if a laptop gets overheated, the internal parts get damaged. What 1
happens if he leaves his device plugged in even after it is charged 100%?
a) It can break
b) It can stop functioning
c) It can overheat
d) Data can get corrupt

Vi, What is the term used when you press and hold the left mouse key and move the 1
mouse around
a) Highlighting b) Dragging c) Selecting d) Moving

Page 1of4




Q.2

Answer any 4 out of the given 5 questions (1 x 4 = 4 marks)

Who is known “Father of Artificial Intelligence”?
a) Fisher Ada  b) Alan Turing c) John McCarthy d) Allen Newell

Statement-1: Al is getting integrated into our lives seamlessly.
Statement-2: Often we do not even realize that we are using Al.
a) Statement 2 is correct and Statement 1 is incorrect.

b) Statement 1 is correct and Statement 2 is incorrect.

c¢) Both Statement 1 and 2 are correct.

d) Both Statement 1 and 2 are incorrect.

section aids us in analyzing and recognizing the nature of the problem.

a) Who b) What c) Where d) Why

. Understand and inspect the web page to find the HTML markers associated
with the information we want.

ii. Use Python libraries to pull out data from the HTML page.

iii. Manipulate the collected data to get it in the form we need.

The above given steps are for collecting data from which of the following data
sources?

a) Cameras b) Sensors c) Surveys d) Web scraping

Which of the following machine requires input from the humans but can interpret the

outputs themselves?
a) Actuators b) Sensor c) Agents d) Al system

Answer any 4 out of the given 5 questions (1 x 4 = 4 marks)

The Emoji Scavenger Hunt game is based on domain of Al.
a) NLP b) Computer Vision
c) Data Science d) Machine Learning

How many Sustainable Development Goals (SDGs) are adopted by the United
Nations?
a) 15 b) 16 c) 17 d) 18
Choose the five stages of Al project cycle in correct order
a) Evaluation -> Problem Scoping -> Data Exploration -> Data Acquisition ->
Modelling
b) Problem Scoping -> Data Exploration -> Data Acquisition -> Evaluation ->
Modelling
c) Data Acquisition -> Problem Scoping -> Data Exploration -> Modelling ->
Evaluation
d) Problem Scoping -> Data Acquisition -> Data Exploration -> Modelling ->
Evaluation
Which of the following W of 4Ws problem canvas helps in analysing the affected
people directly or indirectly?
a) Who b) What c) Where d) Why
If data is easily accessible by humans and program, and easy to read is known as
a) Structured Data
b) Unstructured Data
c) Both a) and b)
d) None of the above

Page 2 of 4
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All the questions are compulsory (1 x 4 = 4 marks)

is the ability of machines to do cognitive tasks such as thinking,

perceiving, learning, problem solving, and decision making.

a) Artificial Intelligence

b) Data Science

c) Data package

d) None of the above
The approach was designed to judge whether a machine could or could not
display artificial intelligence.
a) Boolean Algebra
b) Turing Test
c) Logarithm
d) Algorithm
Under the ‘Swachh Bharat Abhiyan’, the new District Collector of your district has
decided to use Al based smart technology for waste collection. In order to proceed
with it, they decided to identify the areas for installation of smart bins using drones.

This is being done during the stage of Al project cycle for the smart bin
installation.
a) Modelling b) Data Exploration
c) Problem scoping d) Data Acquisition
What are the different reliable sources to collect the data in Al?
a) Surveys

b) gossip with others
c) Observations
d) both a and c.

All the questions are compulsory (1 X 4 = 4 marks)

One of the domain of Artificial Intelligence is Data Science. Choose an application of
Data Science out of the given options -
a) CBIR
b) Self Driving Car
c) Price Prediction Websites
d) E-Mail Filters
Problem scoping helps in
a) Setting the goal
b) Identifying the problem
¢) A deeper understanding of the problem
d) All of these
Which tools/software is not used in Data Exploration stage:
a) Tableau b) API c) Fusion Charts  d) Data Wrapper

Sometimes, you use the internet and try to acquire data for your project from some
random websites. Such data might not be authentic as its accuracy cannot be proved.
Due to this, it becomes necessary to find a
a) Reliable source

b) Random source

c) authorize source

d) bothaand c

Page 3 0of4

[EEN




SECTION B: SUBJECTIVE TYPE QUESTIONS

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6 marks)
Answer each question in 20 — 30 words.

Q.6 Draw the communication cycle and state its important elements.
Q.7  What are the factors affecting perspectives in communication?
Q.8  What are the different practices of Self-Management skills?

Q.9 What are the factors that decrease the Self - Confidence?

Q.10 Expand the term ICT. Write any two examples of ICT tools.

Answer any 6 out of the given 7 questions in 20 — 30 words each (2 x 6 = 12 marks)

Q.11  Write any two differences between Acrtificial Narrow Intelligence & Atrtificial
General Intelligence.

Q.12  What are the advantages of Smart Home?

Q.13  Explain Al bias with an example.

Q.14  Draw the diagram with all the stages of Al project Cycle.

Q.15  What are the different sources to Acquiring Data?
Q.16  What do you understand by ‘Training Data’ and ‘Testing Data’?
Q.17  llustrate the parameters of Big Data.

Answer any 3 out of the given 4 questions in 50— 80 words each (4 x 3 = 12 marks)

Q.18  Differentiate among Al, ML and DL with suitable diagram.
Q.19 Problem Statement:

‘MIDA Solutions is known for providing technology-based solutions for real life
problems of people. It is currently working to develop a technology-based solution
useful for monitoring Kids, Senior citizens, specially-abled individuals or anyone
who needs supervision. The product should be able to use Al and modern
technology to alert or alarm the registered concerned person in case the monitored
person crosses a specified boundary or falls down.’

Identify the “Who”, “What”, “Where” & “Why” from the given problem
statement.

Q.20 Mention any four Sustainable Development Goals. Write any two Impact of Al on
Sustainable Development Goals.

Q.21 What is Decision Tree? Prepare a Decision Tree for playing a football match by
' considering weather condition as dataset (like- Sunny and Rainy). Also label or name
each parts of the Decision tree.

*khkhkkkhkkhkkkhkhkkkhkhkkkhkikhkkikik
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST-II
SESSION: 2023-2024
Class: IX Maximum Marks: 80
Subject: Bengali Time: 3 Hours

General instructions:

1. The question paper contains 10 printed pages.

2. The question paper contains 15 questions.

3. The Question paper is divided into two parts.

PART — A: Objective type paper (MCQ): 25 Marks

PART - B: Descriptive paper: 55 Marks

4. PART — A has three sections: (MCQ)

Section — A: Reading (unseen comprehension): 12 Marks

Section — B: Grammar: 3 Marks

Section — C: Main Course Book & Supplementary Reader / Non detailed text: 10 Marks
PART - B has three sections: (subjective)

Section — B: Grammar: 15 Marks

Section — C: Main Course Book & Supplementary Reader / Non detailed text: 30 Marks
Section — D: Creative writing: 10 Marks

PART — A: Objective type questions (MCQ): 25 Marks
SECTION-A
(Reading: Unseen Comprehension)

1. Toox wrmeld 218 301 eve gaelr Afde Seald fdiva s @ (1x4) x3=12

A. T2 STIF *14BI TR ALY *14 ZETe AN I * Zerg 93 owrs “annf firs 513w
4TS (7 2R (FC Al FAE@H AN @A G wre e o 78 fasivre @i o
P W TR, @ AN @2 5T 4 TG TN W GEHE €3 @INTAI-
eAMIR@E (M09 QGRS FAL IL AR AL 00, O (O QIRIE e T IR T
AV AT F0RE FELE @2 TN @ amat Ao 7 TAree Fae Oie 48 73;
g FFFIT T AT &) Sl TheEI8 SRRl SN [ el Sisiions #I1ed et @ (pieed
e U A~ G W FELS AN MRSy 561 (@ PR e o ¢ A @ R (1R
ICE (@ S AW ¢, ©fF IR0 G FFFIF T 2o Qo A1eq I | e OF (&1 IS 7
31 92 IRCIR (TG AfRreR ATl @ I, @A 8Y LT APl (CEEE @l
GRRE FFCE AN FACo, [F8 SIa a1 ©ima A So1 I 2foes 2Cs 5 ¢ AFH|
N (BTN woefe Oig FAce A 7, O (el g2 ) wsme HiFe sTices
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e 8 oie S @5 SItY Wit , oAk ARS) BoiA P FHCH SN HAR Aw| Il
YRS FA-A (@ |, O G FIGAZS [T &Fe 79| (@F1 ©S IR (FI e
3] e W1 e sfhel wigfe Faee AR el | W - @A A @l @ A TS
CITCA 1, O (@ (@9 6T (73, A3H3 2R CHMRME NG| VTR SR (@ 4FF O€E 77,
q e (Sl orF; [Fg TN &orF T 28 Qe TN Fo) @, @ ol (@ TISq W SIS ¥,
@ Tifeq 4079 TS T I OIFeF (@ Tife T 0T T, (T TS TS 0T T; (&F e 407
AR @ @TACAT, (SN W ABE FPACAT| AT TAF A-A6-IHA €@ Yz A
O e e AfRCoR AR W 2RI @A s Wi qafqite oepEie-REte @i
(TR O BT ¥ 8 e, U3 AP(E AN ARCOIT T FAAAT *[CHF [ook A <R, (*F-
I TR NEE WA OA; OF @ IF0F AFFIR AN A wy Afzrey| i, [Keeq Toper 717
TR TR (Ol T, S el (e SR e Hif2re foeag GlaAe A@es I et e
(18 TS TRARA FCA2 ANA AW AT #/1% 2SS 23|

) (G e ' GERE ?

a. AFE T ToE \ATS|

b. IFECE AT FACS|

c. JIFEACH N & Wi FACS|

d. FFeCE A wFg s

ii) TBAe- T TS A-FCAT (FCA, O AFAN PP [FCo &4FS )

FREA- (F) ©ICS JAE (FICA AS (73]

FIE- () ©ICS AT RIS TS 2@

I A eve Regefad W @t gy 2

a. I T oS 58 T ¥ g

b, IR F G2 TG A (FH2 ASF T

c. FIRA T G2 TR A JIBIR S|

d. TR T g1 fog T 2 A0

iii) 4 38 @R SelCTa YR AT I 2

a. VAT ; RITHICAF

b. REACATF ; TTACATF

c. TA-SITACATF ; A-NTACF

d. TEF-TTACHT ; T-SIATACAF

iv) V€ ST (ATF AN GF5 *F Y& @F I IR [{oASTodF = ®ev

a. &7
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b. tofq =4t

.

d. 9o 41

B. TGEl AP (FIORRIE PRI T 23 | (FIHRRG-AG  AlTaRe e goi
AR FEE | (FIHRRAET G AGFE I @3 T]fers A6y >0 FEAEE ) ATy
T R Nraeg=en QTS qrar SR | Qe TRgwed Jee F© &) o6 FRIRE 2 QRT-
[WE 2300 a9 Mooz FiHE SfsgiE (b e I, ©iRg ATS v Ty ARl @ faes
Ty mifes faer @fsafe waf femmes, Teewe R 8 smifsts st 12y e
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CLASS: IX

D.A.V. INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST - 11
SESSION: 2023 - 2024

SUBJECT: COMMUNICATIVE ENGLISH TIME: 3 HOURS
General Instructions:

i) The Question Paper contains FOUR sections — Reading Skills, Writing Skills, Grammar

and, Literature Text Book.

ii) Attempt questions based on specific instructions for each part.

1.

SECTION A — READING SKILLS (20 MARKS)

Read the passage carefully.

1

The secret of Leonardo da Vinci's talent and Pablo Picasso's success may have been their
dyslexia. The two men suffered from ‘word blindness’ that affects as many as one in twelve
children, but it seems it can develop keen spatial awareness that makes the difference between a
jobbing painter and a master of art.

. Researchers put forty-one men and women through tests to assess their visuo-spatial abilities.

Although we tend to think of this skill in terms of map-reading and parking, the ability to
process 3D information accurately is also a key to art and design.

. Around half of those taking part were dyslexic and so had trouble learning to spell, read and

write. The dyslexic men did better than the other men on many of the tests, including recalling
the direction of the Queen's head on a postage stamp and reproducing designs using coloured
blocks. According to a report of the journal ‘Learning and Individual Differences’, they were
also faster and more accurate at navigating their way around a virtual town on a computer
screen.

. The researchers said there could be several explanations for the findings, including dyslexics

developing an enhanced sense of space to compensate for problems with language. Also, many
dyslexic people prefer to work-out problems by thinking and doing, rather than by speaking.
This could help dyslexic men develop the kind of skills they need to succeed in the artistic and
creative world. However, the dyslexic women had no better spatial awareness than the other
women, perhaps reflecting that the ability to manipulate 3D images tends to be more of a male
trait.

. Now, we have real evidence to indicate that dyslexic men are better in this area. Artists who are

known or believed to have suffered from dyslexia include Leonardo da Vinci, Picasso, Rodin
and Andy Warhol. Leonardo da Vinci, who is also thought to have suffered from Attention
Deficit Hyperactivity Disorder (ADHD), wrote his notes backwards, from right to left and
Picasso had trouble reading and struggled at school.

Based on your understanding of the passage, answer the questions given below:

i. What is ADHD?
A. Attention Deficient Hyperactivity Disorder B. Attention Deficit Hyperactivity Disorder
C. Attention Derived Hyperactivity Disorder D. Attention Derived Hypnotic Disorder

ii. Picasso, as a student was not good at

A. speaking B. reading C. writing D. listening

iii. The researchers put forty-one men and women through tests to assess their
A. map-reading ability B. design ability

C. visuo-spatial ability D. artistic ability

iv. Word blindness, that affects as many as one in twelve children, seems to develop a keen sense

of

A. spatial awareness ~ B. ADHD C. reading ability D. listening ability
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v. As per the real evidences, researchers have concluded that

A. dyslexic men have better skills to manipulate 3D images

B. dyslexic women have the ability to manipulate 3D images, reflecting their creativity
C. dyslexic women have better spatial awareness than other women

D. normal people have more trouble in learning to spell and write than dyslexic people

vi. Dyslexic men are faster and more accurate at navigating their way around a
virtual town on .
A. adaily basis B. a computer screen C.amap-reading D. a design template

vii. Substitute the underlined word in the following sentence with the most appropriate option
given below. Refer to paragraph 4
The ability to manipulate 3D images tends to be more of a male trait.
A. Dislike B. Usualness C. Hatred D. Quality

viii. Select the option that is a symptom of hyperactivity disorder as mentioned in the passage?
A. Word blindness B. Spatial awareness
C. Writing notes backwards from right to left ~ D. Navigating virtual town on a computer screen

ix. How do dyslexic people work-out problems?

x. According to the passage, what is the key to art and design?

2.  Read the passage carefully given below.

1. Our history makes it evident that the Indian Plastic Industry made a vigorous beginning in
1957, but it took more than 30 years to pervade Indian lifestyles. In 1979, the market for plastic
was just being seeded by the state-owned Indian Petrochemicals and it was only in 1994 that
plastic soft drink bottles became a visible source of annoyance.

2. In the same year, people in other cities were concerned about the state of public sanitation and
also urged regulatory bodies to ban the production, distribution and use of plastic bags.
However, the challenge was greater than it appeared at first.

3. The massive generation of plastic waste in India is due to rapid urbanisation, spread of retail
chains, plastic packaging from grocery to food and vegetable products, to consumer items and
cosmetics. The projected high growth rates of GDP and continuing rapid urbanisation suggests
that India’s trajectory of plastic consumption and plastic waste are likely to increase.

4. According to the United Nations Environment Programme (UNEP) Report of 2018, India
stands among few other countries like France, Mongolia and several African countries that has
initiated total or partial national level bans on plastics in their jurisdictions. On World
Environment Day in 2018, India vowed to phase out single-use plastics by 2022, which gave a
much-needed impetus to bring this change.

5. In this context, thereafter, ten states (Andhra Pradesh, Chhattisgarh, Gujarat, Himachal
Pradesh, Karnataka, Madhya Pradesh, Meghalaya, Odisha, Rajasthan and Tamil Nadu) are
currently sending their collected waste to cement plants for co-processing. Twelve other
states/UTs are using plastic waste for polymer bitumen road construction and still four other
states are using the plastic waste for waste-to-energy plants and oil production. A world of
greater possibilities has now opened up to initiate appropriate and concrete actions to build up
the necessary institutions and systems before oceans turn, irreversibly, into a thin soup of
plastic.

6. However, there is no one single masterstroke to counter the challenges witnessed by the
staggering plastic waste management in the country. The time is now to formulate robust and
inclusive National Action Plans, and while doing so, the country will establish greater
transparency to combat the plastic jeopardy in a more sustainable and holistic way.

Based on your understanding of the passage, answer the questions given below:

Page 2 of 6

10



i. Based on your understanding of the passage, infer one reason for the following.
The country will establish greater transparency to combat the plastic jeopardy in a more
sustainable and holistic way.

ii. Select the appropriate option to fill in the blanks. Para 3

The massive generation of plastic waste in India is due to , spread of retail chains,
and vegetable products.

A. partial national level bans B. rapid urbanisation

C. plastic packaging from grocery to food D. both B and C

iii. Complete the following analogy correctly with a word/phrase from para 4.
: stimulus: perseverance: endurance

iv. Select the correct option to complete the following sentence. Para 6.
The time is now to formulate and inclusive National Action Plans.
A. concerted B. muscular C. vigorous D. robust
v. Fill in the blank by selecting the correct option.
‘The challenge was greater than it appeared at first.” The challenge wasto .
A. urge the authorities to impose partial ban on plastic
B. implement total ban on giving license to units
C. gauge the risk of plastic
D. urge regulatory bodies to ban the production, distribution and use of plastic bags
vi. On the basis of your understanding of the passage, choose the option with the underlined word
that reflects the antonym of the word ‘Jeopardy’.
A. Their aggressive behaviour is really a sign of insecurity.
B. There are growing signs of political instability.
C. The country’s economy is now in great peril.
D. The present government has introduced many safety measures.
vii. The passage includes some words that are similar in meaning with each other. From the pairs
given below, identify the set which is NOT synonymous to each other.

A. Evident and Visible B. Spread and Increase
C. Vowed and Phase out D. Initiate and Beginning
viii. Select the option that titles paragraphs 4-6 appropriately, with reference to information in
the text.

Dynamic Approach Cause & Effect
Winds of Change Dynamic Data
Time for Action Effective Approach

A B

Full Speed Ahead! Dynamic Data

Numbers Don’t Lie Cause & Effect

Inspecting Trends Ups and Downs

C D

x. Select the option that displays what the writer projects, with reference to the following:
The time is now to formulate robust and inclusive National Action Plans and while doing so,
the country will establish greater transparency to combat the plastic jeopardy in a more

sustainable and holistic way.
A. Doubt B. Caution C. Conviction D. Denial

x. Select the chart that appropriately represents the trend of plastic usage, from 1957 to 1994, as
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mentioned in paragraph 1.

1957 1994 1957 1994 1957 1994 1957 1994
A B C D

SECTION B — WRITING SKILLS (24 MARKYS)

3. You are Nandita / Nandan, Secretary, Social Welfare Club of Ramkrishna Vidya Mandir, Kolkata.
The club has decided to donate some stationaries to the underprivileged children of the society.
Draft a NOTICE to be put up on the school notice board informing the students about the mission
and urge them to volunteer for the welfare deed. Give all the necessary details in about 50 words.

4. You have noticed wastage of drinking water from the roadside taps in your colony. As a
responsible citizen you informed the local Counsellor office in charge about the issue. Write the
dialogue based on your conversation with the counsellor office in-charge including some
suggestions to save drinking water. [Word Limit: 100 words]

5. You are Rajani / Rahul. You along with your classmates visited an Old Age Home. They greeted
you with a smile, but when you talked to them, you realized how lonely and sad they were. After
your visit you decided to share the experience with your childhood friend. Write a letter in about
120 words describing him/ her, what you saw, how you felt and in what way you have changed
since the visit.

6. You have read about the exemplary leadership of Dr APJ Abdul Kalam in your MCB Unit 1
People. Using the cues given below, along with your own ideas write a paragraph on ‘An Ideal
Leader’ in about 150 words.

An ideal leader- concerned for all -noble- hard working -selfless devotion-
personality- wisdom and knowledge -conclusion.

OR
‘Pollution is a man-made disaster impacting human lives dreadfully.” Taking ideas from MCB
Unit 3 - ENVIRONMENT and using your own ideas write a paragraph on Pollution due to
Urbanisation. [Word Limit: 150 words]

SECTION C - GRAMMAR (10 MARKS)
7.  Fill in the blanks given below by choosing the most appropriate options.
In 1911, the British (i) their capital from Calcutta to Delhi. After the First World War

(ii) government got down to the task of building a new capital. Two renowned architects,
Sir Edwin Lutyens and Sir Herbert Baker (iii) assigned the tasks of designing Delhi.
The India Gate was built to immortalize the 85,000 soldiers who died in World War II.
i. A. shift B. shifts C. shifting D. shifted
ii. A.a B. an C. the D. all
iii. A. was B. were C. will be D. have
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10.

The following passage has not been edited. There is an error in each of the line. Write the

incorrect word and the correction, against the correct question number, in your answer sheet.

ERROR CORRECTION
Discipline at public life ensures 1.
peace and harmony, who in turn il.
offers at required impetus 1.
from the nation’s progress. iv.

Rearrange the following jumbled words/ phrases in to form meaningful sentences.
The fist one has been done for you as an example
e.g., many Indians/ sandalwood / to be / is considered / sacred by

Sandalwood is considered to be sacred by many Indians.

i. medicinal properties / it / fragrance / for its / and / highly / valued / is

ii. in ancient times / sandal and turmeric / blemish free skin / for a / was used / a paste of / by
women

iii. sandalwood trees / the / comes from / renowned / sandal oil / of Mysore

SECTION D — LITERATURE (26 MARKS)

Read the given extracts carefully and answer the questions that follow.
(Answer ANY ONE from question A and B. Queston C is compulsory.)

A. “I chatter over stony ways,
In little sharps and trebles
I bubble into eddying bays,
1 babble on the pebbles”
(The Brook)

i.  What does the word ‘chatter’ mean?

ii. Identify the words from the extract which indicate that the brook is full of enthusiasm?
iii. What do you understand by eddying bays?

iv. Identify the poetic device used in the last two lines of the extract.

OR

B. “Alone she cuts, and binds the grain
And sings a melancholy strain:
O listen! for the vale profound
Is overflowing with the sound.”
(The Solitary Reaper)

i. What kind of a song is she singing?

ii. What does the expression ‘vale profound’ mean? What is it overflowing with?
iii. The exclamation used in O Listen! suggests
iv. Identify the poetic device used in the last two lines of the extract

C. “He was a 23-kilo missile of joy. He hit Chuck above the belt, causing him to
fight to keep his balance.”
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11.

12.

i. Who was a missile of joy?

ii. Why did ‘he’ hit Chuck?

iii. Why did Chuck find it difficult to maintain his balance?

iv. Find the word from the above extract that is a synonym of ,‘struggle’.

Answer ANY SIX of the following seven questions in about 30-40 words each.

i. ‘Kashi-Yatre’, was a catalyst in the transformation of the grandmother. Express your opinion
with reference to the story, ‘How I Taught My Grandmother to Read’.

ii. ‘Small wins help achieve big goals.’ Support the statement with reference to the story,
‘A Dog Named Duke’, to show how this applies to Chuck?

iii. Why do you think the writer and his batchmates were ‘thunder-struck’, when Private Quelch
tried to correct Corporal Turnbull?

iv. Why has the line “For men may come and men may go, But I go on forever.”

been repeated in the poem “The Brook” several times? Bring out the significance of the

refrain with reference to the poem.

v. ‘If you want to achieve something you 've never had, you have to move out of your comfort zone
to travel towards it’. Establish a connection between the quote and the poem, ‘The Road Not
Taken’. Draw valid evidence from the poem to justify your stance.

vi. William Wordworth created an aura of mystery and magic in the poem “The Solitary Reaper”.
Substantiate how the poem reflects the idea.

vii. The ending of the play was a win-win situation approach for Gaston, Juliette and
Mrs. Al Smith. Justify the statement with reference to the play, ‘Villa for Sale’.

Answer ANY ONE of the following two questions in about 120 words.

i Gaston clinched a deal with Mrs. Al Smith and made a good profit. Will you call his action a
businessman’s skill or an unethical practice? What would you have done if you had been
Gaston. Support your opinion with valid evidence from the play, ‘Villa for Sale’.

OR

ii. “Art has the ability to transcend cultural boundaries, even language itself”. William
Wordsworth’s poem ‘The Solitary Reaper’ describes an incident which the poet can’t forget
although he was not able to understand its dialect. Express your opinion on the above
statement with reference to the poem, ‘The Solitary Reaper’.

st sfe sk sk sk sfe s st s ske sk s sfe sk sk sk sfe sk st sfe sk sk s sk sk skoskosk skeskosk
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(D) Xt |ET §, W FROT (R) FUA (A) & Téleh ITEAT g Al g

FAEEAT W IR By 1 dfw sglawedt weal & & fredt IR weat &
FAOF 39gFa 3R a1 @Feqd H g ff@w-
F. FYA (A) HR FROT (R) F 96 WAF 39gFd 3& arel AFeqd F1 oIl
faf@u:-
FYT (A)- [T A H ITAT-3YATA T 6 T &, 39 FIURT A
egd &l
FROT (R)- FAURT AW & JdUe IOTarash fa§or gier gl
e
(A) FUT (A) 3R HROT (R) a1t ITerd 1
(B) FUT (A) el &, T FRIT (R) el &
(C) aXt T g, Fifh HRUT (R) HUT (A) ¥ TP IIEAT FIAT &l
(D) Gt WEY §, T FROT (R) FUA (A) I TeT SATEAT A1 T ¢
. ‘gAY FATAUC fFW YR & AW F ddd Imar &2
(A) afaTg (B) gded (C) ey (D) 3readema
T, FANE HATAIE HT AAHAIE I FAITUH 3TYFd IR ad Aheq FT oAt
faf@u:-
(A) |1 AL Al TG (B) &I & ISt & HHg |
(C) 4Td &t algt T HHg | (D) TTd IR &gl &1 Teg|

(1x4=4)



u. mfaf@a @31 # @32 & ary gafaa ffaw, ik @it sugea sar)
are fweq @1 ot faf@e-

T3-1 (ATAYEG) Gs-2

1. Taufy (i) AT 3R e

2. 2ddisk (i) 299 § S 3}

3. ITeTS (iii) = TAT T GARR

4, ATA-far (iv) AT Y AT dTel
e

(A) 1-iii, 2- iv, 3- ii, 4- |
(B) 1-ii, 2- iii, 3- iv, 4- i
(C) 1-iv, 2- iii, 3- ii, 4- i
(D) 1-iii, 2-ii, 3-iv, 4- i

5. To9 gAEaYe 1 9get & IHR quRT ug Al € Tt ¢, a§ Feerd o-
(A) SF] T
(B) cgeg waH
(C) dcTey qaTd
(D) sgehfe AT

3¢ & Tfe I aeg-sig W IuRT o 713 diw sglswed woal # § Pt I
yedl & walfts 3ugsd IR g RAwer H g fAf@w-
®. Y i e F a7 F Faa g ga &2
(A) @it (B) &% (C) 3 (D) @rT
@. frfaf@d aeT F Tgat Y F IUR 9 aFI-AE F FEF 39gFT
3R g fawey 1 gt faf@e-
FeT &t age IT T B
(A) UTdTIS aTFT|
(B) Hehddrdaer ary|
(C) fotraras are|
(D) fatTsTaraes ared|
. 3 A & AT e st gror A€ & W)’
S Iy il [FUHAATaS d1a g H deolel W 3d [ased giem-
(A) ATTE 3791 2 F FoIT g3l SR wroT & |
(B) 3T9Y 2T & foIT Ul HRAT UI0T & HhaT & |
(C) 3791 &2 & forw Tafy IR =Y 9roT T B9
(D) TR T ST FehaTT & T 221 & forw g3y st wror &

(1x4=4)




¥. FYA (A) HR FROT (R) FY 96H FaITtF I9FFd 3T dTel [{Aveq Y Faa
fafae:-
FYF (A)- T ardl 7 v fam &1 gEd v W e @ & 9y @, 3%
Tohddrdes areFd shgd gl
HROT (R)- Hhdardeh drFd ¥ HROT, U H1f¢ FHT &TEr gar gl
e
(A) YA (A) IR FROT (R) aAr ITed g
(B) FU (A) Tl 8, W FRUT (R) Ield &l
(C) &= Ter &, Fifer HRUT (R) AT (A) I Tl ATRIAT AT gl
(D) Gt WEY §, T FROT (R) HAUA (A) I T SATET A1 Al ¢
5. farfaf@a @s-1 #t @32 & Wiy gafaa fAfaw, ik w&ifts sagea 3o
g Awew &I gat fAf@e-

Ts-1 Ts-2
1. JH Td J&e=T & | (i) GegaTash Ty
2. gHA: 98 GER ST (ii) TohdaTdeh aTFy
3. 3, 3R 38 e (iii) STOTATaS dTaFy
4. HeA EMHT TS &Y arg gt (iv) 3TTTaTde ey

faweq
(A) 1-iii, 2- iv, 3- i, 4- i
(B) 1-ii, 2- iii, 3- iv, 4- i
(C) 1-iv, 2-iii, 3- ii, 4- i
(D) 1-iii, 2- i, 3-iv, 4- i

Ferh W ITURT A 7 oiw sgiaswedt yeal & & gt IR yeal & waifds
39YFd 3R I aFeT F gaw faf@e:-
#. farafaf@a Reedl # ¥ I9ra sresaR & fAT Hla-a1 Fya 77 82

FAA

(i) I UATIHR & e &
(i) T Qe U H 378 aR AT B
(iiii) Shael 3TAY 3 3°ATT A & auif Hir gy g &1
(iv) TR # A=A g1 g 8 Ueh & ek qof &y 3mgfer gich 81
faFeq
(A) Fad faweT ii TEY gl
(B) hael e i 3R faoe iii T&T g
(C) shad faeq i 3R faweT iv TET 8l
(D) shad fashed i, iii 3R e iv TEr g

6. (1x4=4)




@. o awq a1 yroft i Joran A At §, 38 Al
Rerer wurer 1 gt waifds sugeFa 3R g RAwey @ Hifaw:-
(A) 3957 (B) 39T (C) arerh 2reg; (D) TYROT &1y
. fefaf@a @s-1 #t @32 & i gafaa fifae, s wEifts sagea sax
are faFeT :1 g faf@e-

@s-1 ws-2
l. I Teig de g@ AR (i) ART-E A e
2. SETAT SHETCl & Heh | (ii) SPTell TCT I THS HeT|

3. #9] Hel TIUT haol A=A (iii) 1 A O Ig-f@ellar gl
4. U wa7 ol Afd wer (iv) 98T SR SIR-AIR dor aaA=R|

ICCaal
(A) 1-iii, 2-iv, 3-1i,4-1i
(B) 1-ii, 2- iii, 3- iv, 4- i
(C) 1-iv, 2-ii, 3- iii, 4- i
(D) 1-iii, 2- i, 3- iv, 4- i

. ‘gRug FAd FAT-Y iFd F Fla_aredr 2
(A) 39T 3 (B) UH IeiehR  (C) THA® HelhR (D) 3eI9TH 3Telehk
3. YT (A) 3R FROT (R) A Tga FaIf® 39YFd IR 1 [aveq F g
fafgT:-
FYA (A)- THS Holh H Ueh Use AT AT I HGRT glell ol
FROT (R)- THF HehR H Tcdeh IR g AT Ao Al 1Y fHeat-fFeaA grar g |
RFeq
(A) FUT (A) 3R FROT (R) a1 e &
(B) &Y (A) TET &, W FROT (R) Id ¢l
(C) Gl |er g, Fgifes HRUT (R) HUA (A) FI TLIh SATEAT T gl
(D) @&l e &, T FROT (R) HUA (A) I Heh SAREAT g Al &

odIEdsh
farafaf@a srearer F eaEgds 9gH 38 W U & 1 weat & waifaw

39YFd IR I [Adeq F gaw fAf@w:-

TYUUEC HMT? TG Glcll I Al SIAT THbIST STl ¢, Ig He T gIrer geralm gl
Ig AIS! I A Al &, AR Fg QU1 FIE&T &l ¢ 96 Fe aleh o dAled-ar
UFC -3 A 8, fohell Ove 1 AfS+ Bleer 81 IS aeer a1 A & il
¥ N ¢, FS R-AWG ganT Tiehd TUT AT FToATTd IR GielsT decar &
fAsor @ o1 81 S A1e g NfAV| Ife Iee 3o § Y §2r 8 e g drfev|
IR, T, §aEe, 96T 3R HHIS & &THAT H -39, Uh-H-a5-Uh| Hg
T gIter § el & forw aAmsyarer off =gl e 3R o ofdlt g Fehdl B, W Sl
ISt 1 €1 forer sy &7 g1 SIrven, i 3T ArE Sgiaeid AR R S5

8
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Gliea 81 9He | Hed-yamest $r oS ar THchd I &l arell 1 g Al 3HA
AT-AT 3cUlE S5 Sd &1 AT g WUl T & godhl G 8, g@ H dS| Th
feeT 1T 39 R &I AAATSAT TWAT &, AT GHAT UshT &, AT FFT § 3T
T T g1 I8 eifaiv [Aeerd & Hied T |Ed, 3o AAuHe A |
F. guFe A F41 3uNfAAr @ ¥
(A) IE Al FI AT AT THBTAT TATT & |
(B) TE ST AT A & UM F SRR &I
(C) Ig AT Faiedia AR @A deat & fA&0r § a1 g &
(D) IE TR, I, Sellae, Ugd HR AW I &THAT H ITelaT-37eleT §iell ¢
g. 394Fd A Hr fem B-
(A) ey (B) ¥Ig (C) Fgleir (D) Y@rf=3
7. Wiegd-garaal 1 #fis F IHcHT FT A ATl FeT IAT ¢, FifH-
(A) T FN-HfTAT G@RT FiFd 81 ¢l
(B) & WilsT dwal o [&S0T ¥ 1 g1 &1
(C) 3HH g HIE AV-AT 3cUlE S5 S &
(D) ST WieT-THTAT & ST ST a7 gar &
. 3YYFA AT F Hed A A 714 Fywl F ggH wAOF IUYFA 3T A
fawer #1 g faf@w:-
YA
(i) Tled-vamersT Agy T gafer geran gl
(i) TUIFT TFE ¥ R & &I el g
(ili) TUIEC ALSH N A T g, IR Yo7 FE&T &ar &
(iv) s & died &1 e, oA AIdE HG gl o
Rseq
(A) o FAT iv TG gl
(B) hadl &Y i 3R iv Tl &1
(C) dhadl HU iii 3R iv TEr gl

5. HYA (A) AR FROT (R) F T6a FAMAS I9GFT 3TN a9 [AFed H1 s
fafae:-
FUT (A)- TUUFC il HI Al SHAT THBTT AT &1 T§ g 1 I
gerdr &
FNOT (R)- TH H ool GG §Iell © @ q@X H |
faseq
(A) FUT (A) AR FROT (R) gi=r Ted &1
(B) YA (A) TET &, W FROT (R) Id gl

9



(C) alat TEY g, Fifh FRUT (R) HUT (A) T Tl ATEAT FIAT &l
(D) Gl HET &, W FROT (R) HU (A) I Télh ITEAT g1 Al B

F. FYA (A) IR FROT (R) F 9gH FaIfUF 39ad 3TN 1 AFeq H gaaw
@
FYA (A)- 'Gidel FYAT T ATe' 3MEATT Teh A TFI T g, ST FEAIT & w9 F forar
TG
FROT (R)- 3T AT & oG TR [AUTTHT & TGET AT F7AT Y |
e
(A) I (A) 3R FROT (R) g1 ITad & |
(B) FU (A) TE &, T HROT (R) T B
(C) St T &, i SRUT (R) FUF (A) H Fé& AEAT AT B
(D) el |ET &, W FRUT (R) HUT (A) I Tl ITEAT gl FAT B

@ @3-1 # Y ™ R & w32 # AW ) rvaw & @iy gAfaa A, sk
FAIOF 39gFd 3 I RAFeq w1 g AfFw-

Ts-2
(i) =gram A 3R
(ii) a1 Sl T AT
2.
r;”
3 - A (iii) Giaer @uat 9 ag
3,
m P, |
\\’%; - (iv) STeiFamErG T T
e
4. WP \N¥
R&ea

A 1-ii, 2- iv, 3 iii, 4- i
(B) 1-ii, 2-iii, 3- iv, 4- i
(C) 1-iv, 2- i, 3~ i, 4- i
(D) 1-iii, 2-i, 3- iv, 4- ii

10
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frafaf@a Feair #1 eIaEs 9] 39 W IURT Y 73 weaAt F waifaw (D57
39gFd 3R a1 fadeq &1 gahe faf@e:-
T geh IS
AT STt aTell-4;
ifrer Sreir dll
T e
Hgol Je7d I
Igarel-dr
Fifrer drar dll
T &5 Sdel?
3TERTTY & AT,
ifrer Srelr dll
ferer grareter 1
SaTely g &rd?
ifrer drelr dll
. HIT F HAT HI IIGell FAT HgT 82
(A) JIR-SIR & hehad & HROT|
(B) 3TE TT H FHehed & HROT|
(C) 1Tl TR H Fhehod & HROT|
(D) deelroled &R H FHehel & HROT|
@. $faar 7 fFw 9fFa @ Ig AT a1 § F FrEe A o s AR vad
&1 g &2
(A) Fgel 39T HT I@arell-AT|
(B) 3T geh UST deT ST aTell-HT|
(C) iferer Srall ar & §‘é’ STaeir?
(D) g grarTer FI Faremv & fe@
T FE F AN TWER A 5w T F AfaAT F F41 Fa1 32
(A) spifad Fr sarer|
(B) GrdTsTel sl SaTell|
(C) gl 387 I SaTelT|
(D) TFhTeleT TR Hr SaTel|

11



¥. FYA (A) HR FROT (R) FY 96H FaITtF I9FFd 3T dTel [{Aveq Y Faa
fafae:-
YA (A)- deaT T A T gl Fifohe TH & JN H gh X I Fg-do1d

P T T AT B

FROT (R)- 3G & AR & JeaT 3R AR &7 Graleiel STl I@T AT
e
(A) YA (A) IR FROT (R) aAr ITed g
(B) FUT (A) T ¥, T FNOT (R) TefT B
(C) alat TEr g, Fifh FRUT (R) HUT (A) T Tk TTEAT FIT &l
(D) Gt WEY §, T FROT (R) HAUA (A) I T SATET A1 Al ¢

5. farfaf@a @s-1 #t @32 & Wiy gafaa fAfaw, ik w&ifts sagea 3o
g Awew &I gat fAf@e-

@s-1 Ts-2
1. gh (i) TITelr
2. dTell (i) g&g &Fr st
3. STdelr (iii) 37T dT 9T
4. erared (iv) STOTer H o9l 3711

Reea

(A) 1-ii, 2- iv, 3-iii, 4- i
(B) 1-ii, 2-iii, 3- i, 4- iv
(C) 1-iv, 2-ii, 3-iii, 4- i
(D) 1-iii, 2-1i, 3- iv, 4- ii

10, frwfaf@a wal & waifts suged 3o a ReeT 7 gaa Affw- (1x2=2)
F. TG A AAGIG o ‘Hihel’ ASE HT YAWT HAT § | TATFT I§ “Hider Fad yehdrawy
YT F R =Y geit?
(A) R & (B) Sitasdl & (C) Teimr (D) AT &
@. AT o T FYal F 9gHF FAIUF I9YFA ITR @ Qepeq F FAH
faf@u:-
GG
(i) W@ & MEarAr facaeemy & &rer o
(ii) STeIeTE hr FHreg-Aell &l ‘AT’ Hgl ST g
(iii) SR I PTG TAATC T TY Wed H & Hepfold g
(iv) ATETATS TJIEr S T TeATIHIUT TUT g Hehledl [REPR @RI
FATAT fhar a=r g
Reea
(A) Had FUA i 3R i TE L
(B) hael &Y iii 3R iv TET &I

12



(C) Fhael U i, ii 3T iii T ¢l
(D) Faet U i, ii, iii 3 iv T& &l

gs-'q" JUiAcHE T (40 3HF)
IISITETH
11 peafaf@a qeal & @ fFegl i weal & 3T oemsmer 25 @ 30 eeal & faf@w-  (2%3=6)
&. STIaRT H T AT HASAT gl §— ‘Gl Sail T HAT AT S TR I TASE FIfAT|
@. HR & TgTST T Jofell H flsarcl TgTst 1 AT foheTal FITETA 827 oI ' HIT
3T & TR WX TASE AT |
A BH FAS-3IA9 3cUlE Hf JATIT gld T g - Gfed &7 3T 3uHierdrare
T FERTT LAY & YR R TS HIFATY
. ‘d@wwmmww’mmﬁmw%? ‘Alael JUaAT T
e’ T & IR W Qv
12, prafaf@a weal & @ fregl i weal & 3T oemsmer 25 @ 30 el & fAf@w-  (2%376)
F. 9fod TR F MR W TASC AT & FaR GI-T Fga arel T AT
JURSF |
g, ‘9@ AT $ IR R QU fF WATCAT FF 91 & T8 H Piod-pled AT
. 9fSd 3 & IR W fAf@e f& MOt w1 $eor f JIel @ Stell & 2
HROT g2
g. 3% faR ¥ Toaaaiaaal 3R et & a1y veh-ar sgagr 47 fhar
STAT gRM? T 3R Ffhell’ U6 & IUR W FTIST HfAT|
RECIILDEISED
B mefaf@d geal & F gl @ 7eal & 3% o9mener 50 ¥ 60 ereal A fAf@w- (4x2=9)
F. T SN o oI@eh @l AGIEA & H gdIT S dleel W S § &1 Ahr? ‘g7
STol Jold H' 3T & 3R W fof@u|
. & & gfFdca I 39% IRAR & Tohd TofY &7 317 I IS A T hr
3R 3t & 3R )X @)
7. FE3Y & TaaTar 399 Aara & frasi Tgres g1dT 87 ‘A a1 &1 3R 3rea T &
YR R 39+ faar faf@w)
L C GG EC G
14, FEff@T Rval W A T FFa gt &§ IR W HFH & | T 120 (6196
usel # T faf@e-
%. JaT3it & Heahra: HROT IR fFaror
HHd-fdg- Tedrast, of-a-f&eT Heehdr Jar gef, Jasit # s Aol &

3URI, 39HEN|

13



15.

16.

17.

@. TYFd IRAR : 37TeT Y AT ehell

Hahg fig: Fgerd aRaR &1 379, Fal 7 gl @IR, Ssa & &1, ar féy &1 Reat

T FATT, 37T HEDRI Al TEUT, o711 bl SUTEATTT T HE T, IHehol el & Hiebcl|

M. AT T T&T

Hehd fiig- R Y 3RERAT F HROT, GATAROT FUT WL, T e

T G, ITHER|

&. 9 AT Y Tore7aT 100 el F g7 @t B T Agcar g ooy & IR F  Ox1=9)

CRIE

KL
. 39 AR & TR ARSI I FITHT 100 Teei H 99 @l 7R H 9ot
arel @A-9i 7 gerdt F fAdae g o & J g @ Reag fHifau|

F. A T FFT P AGEF TGHT A FoUAT F YR W AHA 100 ey (5x1=5)
# e fvw w agsyr [fge-
Hhd- ST faeared d die - Iefr # ARG - HATell 3T I:T| AN -
BT STaT 9hsT IT| ATl o 3lel -—---- IEr e AW T§ 8l - aToleh
I AT e@ ATl o 3 AW &) - ST AN &2 & qEY JeTelHAT

. 39! IRF-TYATOTYT &I HEeThdl &l TRI-FAUYT Jed el & [T 397
facarer & g # dav@inst.com 9 SETHIT 100 ese) A $-A faf@T|

F. ScTeic T 3TANFAT 3R GEIART W ardieny axd ar faeanar & warg aersrer  (4X1=4)
80 ersal H faf@u|
KL
g. 39 faegrerd # FECaw-aARE A« g Bl Arfgcy IRwe & T o
RS T a0 &1 6 HE H @97 80 Asal A Haelm [ATQT|

*hhkhhkhkhkkhkhkkkhhkkkihkhkihkkkihkhkihhkihikkiiikik
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il
SESSION 2023-2024
CLASS: IX MAXIMUM MARKS: 80
SUBJECT: MATHEMATICS TIME: 3 HOURS

General Instructions:

. This Question Paper has 5 Sections A, B, C, D and E.

. Section A has 20 MCQs carrying 1 mark each

. Section B has 5 questions carrying 02 marks each.

. Section C has 6 questions carrying 03 marks each.

. Section D has 4 questions carrying 05 marks each.

. Section E has 3 case based integrated units of assessment (04 marks each) with subparts of

the values of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3
marks and 2 Qs of 2 marks have been provided. An internal choice has been provided in
the 2 marks questions of Section E

OO WDN

8. Draw neat figures wherever required. Take = % wherever required, if not stated.

SECTION-A (Choose the correct option)

1. Aand B aretwo points. If A (p, q) =B(q, p) then-
(@ p-q=0 (b)p+q=0 ©p+q=0  (d)pg=0
2. What is the coefficient of x2in the expansion of (1 — x)3
(a) -3 (b) 3 (c) 0 (d -1
3. Which of the following is irrational?
16
() \P ) Y27 (c) V10 (d) V64
9 V3
4. Which of the following needs a proof ?
(@) Theorem (b) Axiom (c) Definition  (d) Postulate
> ! is equal to
Jo-8
1 1
a) =(3-2v2 b c) 3-242 d) 3+242
@622 © = © @

6. 4322 equals to

1 1
(@2 s (b) 2° (c) 2° (d) 2°
7. If vertex angle of an isosceles triangle is130°, then the angle between the bisectors of
the other two angles is-

(@) 50° (b) 65° (c) 145° (d) 155°
8. If p(x)=x+3,then p(x)+ p(—x)is equal to
@ 3 (b) 2x ©0 (d) 6
9. If x+1is a factor of the polynomial 2x” +kx, then the value of k is
(a) -3 (b) 4 (c) 2 (d) -2
10. The perpendicular distance of the point A(-5,7) from the X-axis is
(@2 (b) 12 () 5 (d) 7
11. AABC = APQR , then which of the following is true?
(@ CA=RP (b) CB=QP (c) AB=RP (d) AC=RQ

1)

(1)

(1)

1)
(1)

(1)

1)

1)
1)
(1)
(1)



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.
22.

23.

24,

Euclid stated that all right angles are equal to each other in the form of
(a) an axiom (b) a definition (c) a postulate (d) a proof
If the angles of a triangle are in the ratio 5 : 3 : 7, then the triangle is a
(a) acute angled triangle (b) obtuse angled triangle
(c) right angled triangle (d) none of these
In AABC, if BC = AB and /B =80°, then ZAis equal to
(a) 50° (b) 65° (c) 145 (d) 155°
In AABC,if ZA=100°AD bisect £Aand AD L BC. Then £B=
(a) 50° (b) 90° (c) 40° (d) 100°
If the area of an equilateral triangle is 16+/3 cm? , then the perimeter of the triangle is
(@) 48 cm (b) 24 cm (c) 12 cm (d) 36 cm
If a+b+c=0, then a°®+b®+c? is equal to
@ o0 (b) abc (c) 3abc (d) 2abc
Given ZPOR =3x and ZQOR =2x+10°. If POQ is a straight line, then the value of x
is
(@) 30° (b) 34° (c) 36° (d) 50°
DIRECTION: In the question number 19 and 20, a statement of Assertion (A) is
followed by a statement of Reason (R). Choose the correct option.
Assertion: Given two distinct points, there is a unique line that passes through them.
Reason : If A, B and C are three points on a line and B lies between A and C then AB +
BC=AC
(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.
(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.
(c) Assertion is true but Reason is false.
(d) Assertion is false but Reason is true.
Assertion: In an isosceles right-angle triangle the measurement of angles other than
right angle are equal.
Reason: In any triangle sides opposite to equal angles are equal.
(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.
(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.
(c) Assertion is true but Reason is false.
(d) Assertion is false but Reason is true.
SECTION-B
Find the value of m, so that 2x —1 be a factor of 8x* +4x> —16x* +10x+m.

If x =2++/3, then find the value of(x2 +%j .

OR
Insert two irrational numbers between 2 and 3
Plot the points and write the name of the figure obtained by joining them in order
P (_2a 2)1 Q (_2a _3)1 R (5a _3) and S (5’ 2)
Find the area of a triangle , two sides of which are 8 cm and 11 cm and the perimeter is
32 cm.

(1)

1)

1)
1)
1)
1)
1)
1)

1)

)
()

)

()



25.

26.

217.

28.

29.
30.

31.

32.

33.

34.

35.

If p(x)=x?—4x+3, then evaluate p(2)— p(-1).

OR
Factorise: 3x* —x—4.
SECTION-C
at at  —(20%)
Prove that: = :
a't+bt a't-b* a’*-b?
POQ is a line. Ray OR is perpendicular to line PQ. OS is another ray lying between

rays OP and OR. Prove that /ROS = %(AQOS — ZPOS).

Factorise : 2x2 + y? +82% — 24/2xy + 44/2yz —8xz
OR

If +i2 =14, find the value of z° + istaking only positive value of z +1
z z z

Prove that angles opposite to equal sides of an isosceles triangle are equal.
Sides of a triangle are in the ratio of 12 : 17 : 25 and its perimeter is 540 cm. find its
area.

An isosceles triangle has perimeter 30 cm and each of the equal sides is 12 cm. Find
the area of the triangle.
OR
The perimeter of a triangle is 50 cm. One side of the triangle is 4 cm more than the
smaller side and the third side is 6 cm less than twice the smaller side. Find the area of
the triangle.
SECTION-D

Ifa+b+c=5,andab + bc + ca=10, then prove thata® +b® +¢® —3abc=-25.

B2, 32

If x=~——"andy=-——— then find the value of x* + y.
Bz T Bz Y
OR
Express 0.6+ 0.7 +0.47 in the form ™ , Where m and n are integersandn=0.
n
In the given figure, lines XY and
MN intersects at O. If PO L XY P
and a:b=3:7 find a, b, c and d. M

ABC is a triangle in which altitudes BE and CF to sides AC and AB are equal. Show
that
0] AABE = AACF (ii) AB = AC, i.e. ABC is an isosceles triangle.

OR
In a right triangle ABC, right angled at C, M is the mid- p A
point of hypotenuse AB. C is joined to M and produced toa
point D such that DM = CM. Point D is joined to point M B.
Show that :
(i) AAMC = ABMD
(i) «DBC is aright angle. B c

()

(3)

(3)

@)

(3)
(3)

(3)

()
()

()
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SECTION-E
36. CASE STUDY-1
On one day, Principal of a particular school visited the classroom. Class teacher was
teaching the concept of polynomial to students. He was very much impressed by his
way of teaching. To check, whether the students also understand the concept taught by
him or not, he asked various questions to students. Some of them are given below.
Answer them.
(i) What is the degree of the polynomial 2x* + 3x> — 4x + 3.
(ii)Find the value of k, if (x — 1) is a factor of 4x3 + 3x% — 4x + k.
OR
If x + 2 is the factor of x3 — 2ax? + 16, then find the value of a.
(iii)Write the number of zeroes of the polynomial x? + 4x + 2.
37. CASE STUDY-2
A plane mirror is a mirror with a flat reflective surface.
B
Lo

m

C n
An incident ray is a ray of light that strikes a surface. The reflected ray corresponding to
a given incident ray, is the ray that represents the light reflected by the surface. In the
given figure, m and n are two plane mirrors perpendicular to each other.
Answer the following questions:
(i) Find the value of ZDBA+/BAC
(i1) Incident ray CA is parallel to which ray?
(iii) If BO = 3 cm, AB =5 cm then, find the value of AO.
OR
If OA = OB, then find the value of ZOBA.
38. CASE STUDY-3

The sides of a rectangular park are 80 m and 90 m respectively. A small triangular area
of side 8m, 10m and 6m respectively is to be left out at the four corners of the park for
growing flowering plants. The remaining area is be planted with natural grass.

(i) What is the semi-perimeter of the triangle for the above measurements?
(if) What is the area of the rectangular garden?
(iii) Find the area used for growing flowering plants.
OR
If the cost of planting the flowering plant is ¥ 75.50 per m? , then find the total
cost of planting the flowering plants.
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST-II
SESSION: 2023-2024
CLASS: IX MAXIMUM MARKS: 80
SUBJECT: SCIENCE TIME: 3 Hours

General Instructions:
i.  The question paper consists of 06 pages and 39 questions in 5 sections.
ii.  All questions are compulsory. However, an internal choice is provided in some questions. A student
is expected to attempt only one of these questions.
iii.  Section A consists of 20 objective type questions carrying 1 mark each.
iv.  Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions
should be in the range of 30 to 50 words.
v.  Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these
questions should be in the range of 50 to 80 words.
vi.  Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers to these
questions should be in the range of 80 to 120 words.
vii.  Section E consists of 3 source -based/case-based units of assessment of 04 marks each with sub-
parts.

SECTION A
(Select and write one most appropriate option out of the four options given for each of the questions
1-20. There is no negative mark for incorrect response.)
1  Identify the following sets of phenomena that would increase on raising the temperature. 1
a) Diffusion, evaporation, compression of gases
b) Evaporation, compression of gases, solubility
c) Evaporation, diffusion, expansion of gases
d) Evaporation, solubility, diffusion, compression of gases

2 During summer, water kept in an earthen pot becomes cool because of the phenomenon of 1
a) Diffusion b) Transpiration c) Osmosis d) Evaporation

3 On converting 25°C,38°C and 66°C to Kelvin scale, the correct sequence of temperature will be 1
a) 298K, 311 Kand 339K b) 298 K, 300 K and 338 K
c) 273K, 278 K and 543 K d) 298 K, 310 K and 338 K

4 A few substances are arranged in the increasing order of forces of attraction between their 1

particles. Which one of the following represents a correct arrangement?

a) Water, air, wind b) Air, sugar, oil
c) Oxygen, water, sugar d) Salt, juice, air

5 A mixture of sulphur and carbon disulphide is 1

a) heterogeneous and shows tyndall effect.
b) heterogeneous and does not show tyndall effect.
c) homogeneous and shows tyndall effect.
d) homogeneous and does not show tyndall effect.

6  Tincture of iodine has antiseptic properties. This solution is made by dissolving: 1
a) lodine in potassium iodide b) lodine in vaseline
c) lodine in water d) lodine in alcohol.

7 Which of the following statements are true for pure substances? 1

(i) Pure substances contain only one kind of particle.

(i) Pure substances may be compounds or mixtures.

(iii) Pure substances have the same composition throughout.

(iv) Pure substances can be exemplified by all elements other than nickel.
a) (i) and (ii) b) (i) and (iii)
c) (iii) and (iv) d) (ii) and (iii)
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8 Identify the following that can be made into crystal. 1
a) Bacterium b) Amoeba ¢) Virus d) Sperm
9  Sonia was given a slide of parenchyma. After observations, she concluded that parenchyma is- 1
a) thin walled, loosely packed cells with central large vacuolated and peripheral cytoplasm
b) thick-walled cells with a small vacuole
c) cells with no cytoplasm
d) none of these.

10  Organelle other than nucleus, containing DNA is 1
a) Endoplasmic Reticulum b) Golgi Apparatus
¢) Mitochondria d) Lysosome

11 Which of the following is/are true about P, Q and R? 1

P

a) P-transports food, Q-transports Oz, R- clots blood.
b) P-transports Co», Q-clots blood, R- produces antibodies.
c)P-clots blood, Q-eats foreign material, R- transports food.
d) P- transports O, Q-kills bacteria, R-clots blood.
12 A person met with an accident in which two long bones of hand were dislocated. Which among 1
the following may be the possible reason?

Q R

a) Tendon break b) Break of skeletal muscle
c) Ligament break d) Areolar tissue break
13  The cell organelle not involved in forming functional protein is 1
a) Endoplasmic reticulum b) Vacuole c) Plastids d) Golgi apparatus
14 Voluntary muscles are found in - 1
(@) Alimentary canal (b) Blood (c) Limbs (d) Bronchi of lungs

15 A body thrown vertically upwards reaches a maximum height h. It then returns to ground. The 1
distance and the displacement travelled by the body respectively are
a) 2h, zero b) h, zero c) zero, 2h d) zero, h
16  Action and reaction forces 1
a) act on the same bodies in same direction
b) act on different bodies in same direction
c) act on the same bodies in different direction
d) act on different bodies in different direction

Q 17 To 20 are Assertion - Reason based questions. These consist of two statements Assertion (A) and
Reason (R). Answer these questions selecting the appropriate option given below:
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true and R is not the correct explanation of A
c) Aistrue but R is false
d) AisFalse butR is true
17 Assertion (A): When a beam of light is passed through a colloidal solution placed in a dark 1
place the path of the beam becomes visible.
Reason(R): Light gets scattered by the colloidal particles.

18 Assertion (A): Prokaryotic cells are primitive and larger than eukaryotic cells. 1
Reason (R): Prokaryotic cells lack membrane bound cytoplasmic organelles.
19  Assertion (A): A nail is inserted in the trunk of a tree at a height of 1 metre from the ground 1

level. After 3 years, the nail is still present there.
Reason(R): The girth of the stem or root increases due to apical meristem (cambium).

20  Assertion(A): A table cloth can be pulled from a table without dislodging the dishes. 1
Reason(R): To every action there is an equal and opposite reaction.
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22

23

24

25

26

27

28

SECTION-B
(Question No. 21 to 26 are very short answer type questions)
The temperature - time graph given below shows the heating curve for pure wax.
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From the graph answer the following:
a) Identify portions of the graph which indicates that change of state is taking place.
b) Name the terms used for heat absorbed during change of states involved in above
processes.
a) Name the cell that does not lose their nucleus at maturity.
b) Describe the function of RBC.
The skin of your finger shrinks when you wash clothes for a long time. Give reasons.
OR
Endocytosis found in animals only. Justify.
An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its velocity if it
takes 24 hours to revolve around the earth.
OR
A motor cycle moving with a speed of 5 m/s is subjected to an acceleration of 0.2 m/s?. Calculate
the speed of the motor cycle after 10 seconds and the distance travelled in this time.
From the given v-t graph of a body of mass 20 kg
(a) Calculate the force on the object in time interval 0-4 s.
(b) Identify the time interval in which there is no net force acting on the body.
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(a) Amit buys few grams of gold at the poles as per the instruction of one of his friends. He hands
over the same when he meets him at the equator. Will the friend agree with the weight of the
gold bought? If not, why?

(b) Estimate the weight in newton of a 10 kg object on the moon and on earth.

SECTION-C
(Question No. 27 to 33 are short answer type questions)

a) Define the term solubility.

b) The solubility of potassium nitrate (KNOs3) at 313K is 62 g. Calculate the mass of
potassium nitrate that would be needed to produce a saturated solution of KNOs in 50 g of
water at 313 K?

a) ‘Sea water can be classified as homogeneous as well as heterogeneous mixture.” Justify.

b) Smoke and fog both are aerosols. In what way are they different?

OR

N

2

3
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30

31

32

33

34

a) Is water an element or a compound? Give reason in support of your statement.
b) Describe any two properties of colloid.
Name the organelles which show the analogy written as under
(i) Transporting channels of the cell
(ii) Power house of the cell
(iii)Packaging and dispatching unit of the cell
(iv) Digestive bag of the cell
(v) Storage sacs of the cell
(vi)Kitchen of the cell
a) Water hyacinth float on water surface. Explain.
b) Name the structure that protects the plant body against the invasion of parasites.
c) Animals of colder regions and fishes of cold water have thicker layer of subcutaneous
fat. Give reasons.
a) ‘The average speed of a moving object can never be zero.’- Illustrate the statement.
b) Abdul, while driving to school, computes the average speed for his trip to be 20 km h.
On his return trip along the same route, there is less traffic and the average speed is 30
km h. Calculate the average speed of Abdul’s for the total trip.

A car moving along a straight line at a speed of 72 km/h stops in 5s after the brakes are applied.

a) Find the acceleration.

b) Plot the graph of speed versus time.

¢) Using the graph find the distance covered by the car after brakes are applied.

a) State Archimedes principle.

b) 'Archimedes’ principle has wide application in making ships and submarines.’ - Illustrate
this statement.

¢) The volume of 50g of a substance is 20cm?®. If the density of water is 1g/cm?. Will the
substance float or sink?

SECTION-D
(Question No. 34 to 36 are long answer type questions)
(a) Name A,B,C,D,E and F in the following diagram showing change in its state.

Increase heat and
decrease pressure

lE}

L. |A] — B _$i.
GouD)e———> (uguib) T——>(GAS)
E 3 D oot (

].

Decrease heat and |
| increase pressure |

(b ) Convert the following temperatures to kelvin scale.
(i) 30°C (ii) 273°C
(c) Steam produces more severe burns than boiling water. Give reason.
OR

(a) Give reasons for the following:-

(i) We get the smell of perfume sitting several metres away.

(ii) Sponge though compressible is a solid

(i) Rate of evaporation of an aqueous solution decreases with increase in humidity.
(b) Classify the following into Osmosis/Diffusion:-

0] Spreading of virus on sneezing

(i)  Swelling up of raisins on keeping in water

(i) Preserving pickles in salt

(iv)  Smell of baked cake throughout the house.
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36

a) Analyze the consequences of the following conditions. 5
(i) A cell containing higher water concentration than the surrounding medium
(ii) A cell devoid of lysosomes.
(iii)A cell having equal water concentration to its surrounding medium.
b) State the relationship between chromatin, chromatid and chromosome.
OR
a) Analyse the following figure. Identify A and B and mention the functions of A and B.

Endoplasmic reticulum helps in membrane biogenesis. Comment.
(i) Represent the following graphically: 5
(a) Momentum versus velocity when mass is fixed.
(b) Velocity versus mass when momentum is constant.
(i) A bullet of mass 10g strikes a sand-bag at a speed of 10° ms™ and gets embedded after
travelling 5 cm. Calculate:
(@) The resistive force exerted by the sand on the bullet.
(b) The time taken by the bullet to come to rest.
OR
(i) Explain the followings:
(a) When a bus suddenly moves forward, the passenger standing in the compartment tends to
fall backwards.
(b) An athlete prefers to land on sand instead of hard floor while taking a high jump.
(c) Water sprinkler used for grass lawns begins to rotate as soon as the water is supplied.
(i1))Whether the statement ‘the sum of action and reaction on a body is zero’ is true or false Justify
your answer.

SECTION-E

(Q 37 to 39 are case based/data-based type questions with 2 to 3 sub parts. Internal choice is provided

37

with one of these sub parts.)

We have read that a binary solution has two components or constituents. These are solute and 4
solvent. The relative amounts of the solute and solvent in the solution either by mass or by
volume represent the concentration of solution. The concentration of a solution is expressed as
the amount of the solute present in a given amount of solvent or solution. It is normally
expressed as mass-by-mass percent or as volume-by-volume percent. During an experiment,
the students were asked to prepare a 10%(Mass/Mass) solution of sugar in water. Rahul
dissolved 10 g of sugar in 100 g of water while Priya prepared it by dissolving 10 g of sugar in
water to make 100 g of the solution.
a) Do the two solutions have same concentration?
b) Calculate mass/mass percentage in each case.
¢) Whose measurements are correct for the experiment?

OR
¢) Write the unit of mass/mass percent to represent the concentration of the solution.
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38

39

Read the text carefully and answer the questions.

All cells possess the ability to respond to stimuli. However, cells of the nervous tissue are
highly specialised for being stimulated and then transmitting the stimulus very rapidly from
one place to another within the body. The cells of this tissue consists of a cell body with a
nucleus and cytoplasm, from which long thin hair-like parts arise. An individual nerve cell may
be upto a metre long. Many nerve fibres bound together by connective tissue make up a nerve.

(a) What is nervous tissue made up of?

(b) What is a nerve impulse?

(c) Name the hair-like parts which arise from the cell body. Which part of the neuron
receives the stimuli and which part passes them to the body cells/muscles?
(or)

Where are nervous tissue found in our body? What are neurons specialized for?

Weightlessness is a condition when our body is in free fall and the acceleration is downward at
gravity. This condition can be defined by the term zero gravity. So, weightlessness occurs when
there is zero support of force on our body. Weightlessness is a situation in which the gravitational
force is zero. We feel weight because the ground exerts an equal and opposite force on our body
after our body exerts a force on the ground due to gravitational attraction. Now when falling
freely under gravity there is no solid thing which can exert a force on us which does makes us
feel to be having weightlessness. In general, the ground exerts equal and opposite force on you
and hence you feel the weight and in the same way if you fall freely, we feel being weightless.

a) ‘The weight of an object at the center of earth is zero” — Justify the statement.
b) Distinguish between mass and weight.
c) If small and big stones are dropped from the roof of a house simultaneously, will they

reach the ground at the same time? Explain.

OR

c) Calculate the force of gravitation between the earth and the sun, given that the mass of
the earth = 6 x 10%* kg and the mass of the sun is 2 x 10%° kg. The average distance between
the two is 1.5 x 10t m.

3k 3k >k >k 3 3k 3k %k %k %k %k %k k
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